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1. 100 10 61 4. An iron-cored coil takes 4 A at a power factor
of 0-5 when connected to a 200 V, 50 Hz
+ supply. If the equivalent resistance due to
60V 200 200 <40 154 copper loss is 20 Q, what is the equivalent
- resistance corresponding to the core loss ?
(a) 0%
In the circuit shown, what is the current in the (b) 50
1 Q resistor 7 ) 100
(a) DA d) 15Q
by 2A . 2 et
5. Three identical impedances are connected first
cd 9A in star and then in delta to a 3-phase
(di 21 A balanced supply. If the total power consumed
by the load in the two connections are W_,
2, 5/3 Q and W, , what is the value of W, ?
(a) wstar
b V2 W
1A 100 2A 60 © 3 wmr
oB d 3 wntar
For the network shown above, the Norton's 6. The two-part m:mn of an n:1 ideal
equivalent current across AB is given by et B ; N R by
{fa) 1A 0 —
n
(b) 2A transformer in terms of its
(e 3A (a) Z-parameters
(d) 4A (b} Y-parameters
(¢) ABCD-parameters
3. A
al (d) h-parameters
v zﬁ Resistive §)+"’ @ R
- | Network = lse - 1. ‘&(’
B B N
Fig. (a) Fig. (b) A 4
For the cireuit shown in Fig. (a), if 80
AN ———
Vg =V, volts and V = 0 volt, then I = — 5 Amp; 4Vi-':_ 20 10
while for Vg = 0 volt and V = 1 volt, -
I =05 Amp, What are the values of o
Igo (Amps) and R (Ohms) for Norton's B
+ «q ey ;
equivalent between A and B as shown in For the circuit shown, the value of R is so
Fig. (b) ? adjusted as to transfer the maximum power in
(a) 25 and & {1 I}l re]al':wtur. What is the amount of power ?
a
{.b‘.l 10 and 0-5 b 2W
{(c) 5Hand2 © 4W
N-DTQ-K-GNG (2 -A)
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s B wae 10 60 4. ©F ®E-@ifta Fet 5@ 200 V, 50 Hz, vama 9
/ S st & @ o5 wfes U W4 AT & | ok
ot w1 & sRo sk 20 0 &, & ®%
60V 20 Q 200 <49 (H)i5A o
£ ( aifit & e gear wietry @ @ 7
(a) 0Q
. (b) 65Q
femm me oftwy #, 1 O & vieRos W o= wER T T
#7 (d 1580
) UA 5. 1 e Wit 3.zen wiofé Y@ W OE aw
(b) ZA _ (star) ¥ S8 S & Aw A F w7 (delta) F |
(€ 9A afe 2 HEe ¥ WR R e Fuge wfe W
(d 21A Wy, &, AW B E P
¥ 5/3 0 (8) Wy
%W“D.A (h) ﬁw.mr
fe) 3 W
A slar
1A Swa MDza 3se A A
oB |6, @ n:l I wRufm & fGex smep

R faw w I & fe, AB W F1F g o) n 0
Poedt 2 7 [ (| # 1 7' R @ e Bt o
(@) 1A S
by ZA it & & 7P
) SAa (a) Z-sTeeT
d 4A (b) YRt
i) ABCDMEH
8 \ AL & A (d) haTER
v e Py @ 2 :
Eﬁﬂﬁ =t lse = n 7 Aoy
fr (a) fer (b) ANAA, &
30
faﬁtn}ﬁﬂﬁﬁwqﬁqﬂﬁ,ﬂﬁ\fs=\flwltﬂ + AN
A V=0volt, 7@ I=-5Amp & wafs av 30 18
V3=Gv0113ﬂ?\r=luu]lﬁfﬁ!’l§.Izﬂ-ﬁﬂmp
it mdafmmmd AskBS B
&u 3§ Hid7 & gey Ruw & e I, (Ampe) 3R zefe 7o aRuy #, R & w9 g9 ave @ Wi
R, (Ohms) & wr o # ? fsm mmen & Bwd 10 sfes § weew ofs
(a) 2535 3eRoT B & | s @ o @ P
) 103K 05 @ -1 W
) 532 ::: i$
d) -53k2 (d) 8W
N-DTQ-K-GNG T
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8. Let x(t} = 1 — 2t. Then what is the value of |12, I 10
‘[ x(t) Bt + 1) dt +
i 1V @ gl H I F
(where &(t + 1) is unit impulse at t = =1) ?
(a) -1
(b) 1 o : .
© 8 In the circuit shown, what is the frequency at
@ 0 which the current I will be zero 7
5
9. Separation property of state-transition matrix W 50 H},:
is (b) 2n Hz
(a) ot - 1) = o(t) olt,) (e) 1 Hz
(b) ot — t) = 07M(t) olty) 2n
(e} olt — ty) = o(t) ¢ L) (d) o Hz
= =1 ~1
(d) ot —tg) = 07(1) &7 (ty) 13. Consider the following functions -
10, If d'It;j:ll. = K, K < 0, and i(0) = 1, then, i(t) 1 s? +3s
’ 2(s? + 1)
(a) increases exponentially.
4
(b} decreases exponentially. g B +235+1
{c) increases linearly. 5(s” +1)
{d) decreases linearly. 9
3 E°+1
40 '
11. PP s
+] 20 —3 L
12V o 4 ) E—
s + 148" +30
gV
1H —=iF Which is the valid driving point impedanmlag;_j
T functions set ?
fa) 1,2and3
The circuit shown i8 in steady-state with ib) 1,3 and 4
switch S5 open. The switch is closed at t = 0, (¢) 1,2and4
What is the current through 2 Q resistor at (d 2 3and4
time t = 0% 7
@ 0A 14. What happens if the sampling time is less
- than the Nyquist interval ?
b)) 2 A {a) Simpler filters can be used to obtain the -
3 original signal
© 2a (b} Bandwidth increases
3 {c) Channel capacity increases
dd 1A (d) Guard-time becomes less
N-DTQ-K-GNG (4 - A}
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@ 1Q
; e [: AN
8 oW A «(t)=1-2t 7@ j x(t) Bt + 1) dt
+
TAF TR P UTE St + 1), t = -1 W IHH ”FC) %1“ =1
AT #)
W - zwie me ofkuer ¥, few amgftr w o 1O
by 1 m?
{c) 3
(d) 0 (a) 50 Hz
: (b) 2nHz
9, JET-UHIVT HEUE T JUFEIO] 0T T & P )
(@) 4t — ty) = o(t) oty (e) ﬂl-]_z
e |
(b} Ot — 1) = 07(L) dlty) o e
(6) ot —ty) = it) ¢ty
(@) ot —ty) = o7Ht) Mty 13. Frafefes wemt o fear @i -
: -
10. M) g K<0 3R i0)=1,, 7 ict) ], S 43
di/ dt a(s? + 1)
(a) ERUmE e & & |
(b) ERUERS T 2 ¢ | o  St+3s+1
(e) Yawmgfadm @ T )
(d) Haorgada # |
11. E’\ﬁ. 3, 8% +1
1
s 20 -
12V o7 52+zs
B
sV s* +145% + 30
2L R &u T feg wftmmen oom TeEm s @ # 2
(@) 1,23R3
fam § g g9 & Ref F R man ot ) 1,33k 4
Resman # & | 999 = 0 W Raw @ M (© 1,234
SRR | W9 t = 0 W 2 Q wfeRus § arT v @ 2 334
TR ?
14. af? wideos wwg i sewm @ &0 2 @ &
(a) OA i e
b 2 A (a) TRV Fredesl & @ W6a o s &
' 3 fore, wanr e a0 wwar
© LA (b) @& disrf agdt &
3 (c) ot amen wgdt @
(d) 1A (d) <ef-wom &9 @ e #
N-DTQ-K-GNG (65-A)
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15.

16.

17.

A system has the following transfer function

Gls) = 1““'“5;'3“50’ . Which of the
si(s+10) (% + 35+ 10)

following is the type number and order of the
system ?

{a) 4and?

(by 4and?

(¢} Sand7

(d) 7Tand b

What is the correct overall transfer function
% for' tha abiove Blodk diagiam ?

Gl. +GZ
1-G,H, - GoH,

(a)

GI+G2
1+G,H, —G2H]

(b}

() G1 +Gg
1- GIHI + GEHI

Gl _GE
1- G1H1 - GEH]

id)

The open loop transfer function of a unity
negative feedback system is given as

Gis) = —1_. What is the bandwidth for this

s+1

system under open loop and closed loop
operations respectively in rad/sec ?

(a) 2 and ]

(b) 1and?2

fe} 1 and 0-5
{d) 05 and 0-5

18,

19,

N-DTQ-K-GNG

{6 -A)

The open loop transfer function of a servo
system with unity negative feedback is given

6 , .
s :Glg)= — — . What is the dam
o (8+2)(e+5) i i

ratio and the natural frequency of
oscillation in rad/sec ?

{a) 3 and 4
8

® I and16
B8

(e) 4 and 4
7

(d) % and 16

The unit impulse response of a second-order
under damped system starting from rest is
given by : G(t) = 12:5 ¢ sin 8t, t = 0. What is
the natural frequency in rad/sec and the
damping factor ?

(a) 10 and 06
(b} 10 and 0-8
(c) B8 and 06
(d) 8 and 0-8

Ris) K Cis)
"%’"gmhumm(s +1)

In the system shown, what is the range of K
for stability 7

(fal] 0<K<40
(b) 0<K<B0
e D<K<20
(d 0<K<10

Dream Dare Win
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15. o3 @ FrefaRee sfwor e @ 18. &l o3 ® UHG WONeIe [iaee & o fge
Ge) = 100 (s + 5) (s + 50) _ qreT AR WA Gls) = . B
st (5 +10) (s + 35+ 10) (s +2)(s +5)
Preffe & & o, 7 B R e kAR | € | FET I wiie dee sk
%P mdfsecﬁﬂt?
(a) 43R9 ) Tl
by 43R 7 N
() 537 ® I ski16
@ 73RS s
(el iSfﬂd
16. o G, F
+ ~d 4
R - ¢ @ Z3Rie
+
| Ha |
sﬂzjﬁmmaaﬁ—mﬂﬁﬂiﬂhmmwm%m fewfe =@ ymifm 73 = fem & v amm
TR ? AP G(t) = 125 % gin 8t, t 2 0 & | FEH
- rad/sec # wanifaw angfr ok sies o @
(a) BB g2
1-G,H, -G,;H,
(a) 10306
G, +0G,
(b) 1773
1+G H -G, H, (b) 103K 08
-8 Gj + Gy (c) B3R 06
1-GyH, +G3H, @ B3tk 08
(d) =4
1-G,H, -G,H,
. . 20. Ris) K Cis)
17. US® WONHs (AavE o o faga o s —(%_"H¢32+43+gu}{;+1;
mGtsJ=.1_lt!|gﬂmﬂsfﬁ'eFaqam
, mSE o _ frafe e 3, wenfre & Pre K & dReR s 2 7
aun wga g yawem § 5 g rad/sec §
T E e (a) D<K<40
fa) 231 (b) 0<K<80
() 132 e) D<K<20
(0 1305
N-DTQ-K-GNG L =AY
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21, The transfer function of a phase-lead |24.
compensator is given by : 1+aT.s where
1+T.s
a>1 and T > 0. What is the maximum
phase shift provided by such a
compensator 7
(a) tan ’[E_I 25.
a+1
{b) t.an‘l[“+1]
a-1
-1[ a-1 ]
(c) cos 28,
a+l
(d) sin'l[E_I.J
a+l
22. The transfer function of a lag compensator is
given by the expression L pe and that of a
1+qs
o] 1+as
lead compensator is given by TR What are
-+ bs
their correct conditions 7 o7
fa) a<b and p<q
(b) a<hb and p>q
fe) a>b and p>q
idl a>b and p<gq
23. If the magnitude of the magnetic flux B at
a distance of 1m from an infinitely long
straight filamentary conducting wire is 4.
2 x 10 Wh/m?, what is the current in the
wire ?
a) 1A
by 10 A
(e) 100 A
(d) 1000 A
N-DTQ-K-GNG {8 - A)

Compared to copper, silver has

{a) higher contact potential.

(b) higher resistivity.
{c) higher resistance to the oxidation.
{d) lower thermal eonductivity.

Frenkel defect is due to the existence of

{a) extra electrons in the crystal.

(b} extra holes in valence band.
(e) lattice distortions in erystal,
{d) extra atoms between the regular atoma

of crystal.

The Kirchhoff's current law is implicit in the
cxXpression

(e)

Quartz is one of the important piezoelectric
materials that is used in many practical
devices, Which of the following devices does
not use a quartz crystal ?

{a) Mechanical flaw detectors

(b} Accurate watches
(¢} Ultrasonic generators
{d} Amplifiers of sound

The far-field intensities of a8 magnetic dipole
antenna vary inversely as

(a) R?
(h) R?
e} R
(d JR

where R is the radial distance of the
observation point from the center of the loop,

Dream Dare Win
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21.

23.

N-DTQ-K-GNG

U6 SHO-IUTHA UaeRs ® 3E B

1+aT8 s s o> 15k T>02 | W
1+T.s

wheRes /1 T weww oo Rar smr
g

)
o w(22))

(d) ain"[ﬂ_l]

tE uraHa WaeRE & 30T Bed Eoie

zimﬁmmémmmm
qH

@ 1188 o | gt wd 2wt w7

1+ bs

(a) a<b 3R p<g
b) a<b 3R p>gq
(¢) a>b 3R p>q
(d) a>b 3R p<gq

g vd s f A g 9E TR Y 1 m @
T W gEST By @ aEmr B,
2 % 10~ Wh/im?® #, & 7% # oy waw i & ?

fal 1A
(b) 10 A
(ed 100 A

(d) 1000 A

Dream Dare Win

24.

25.

217,

(8-A)

am & geen §, o9 |

(a) IeaPa Ifts Tk fva dar |

(by atenEa sfte sfeusa ad & |

(c) 3ifeiraor & sl sremga e vy den |
(d) 3memEa B0 Fuim TEEd 2 |

fer 2w fewdt frmean @ B @ 2
(a) fisew A sfoRes ol

(b) e & & wffes f
(c) Fovem f oo fawor

d) foem & Puofm compd 4 sfRe
TRATET BT E

forvais Ry Frow e =i 4 arafifea & 7
(a) ?.ﬁ:pa

{b) J‘ J.ds=0

(© V.B=0p,
(d} ?xﬁ=j+a—_
at
Fats wevayl amafigy vardt § @ vw #
gd W aEEiE d wm g & |

SERTM E Hw A e g B B g )
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29. The far-zone electric field E; and magnetic [33. Contribution to total polarization in a
field H, of a Hertzian dipole differ in time dielectric ‘material arising from polar
hane b muolecules 15 dependent on temperature. At
p ¥ temperature above a critical temperature,
(a) 0° how does pelarization vary with
temperature (K) 7
(b) 90 (@) T
{.l:} 120° {h:' 'I\Q-
(d) 1807 () T2
(@ 771
30. A plane wave is propagating in a material g4  Consider the following statements :
characterized by €, = 225, u, = 1 and 0 = 0. 1. Conductivity increases with increasing
What is the value of B in rad/m, when the temperature.
electric field is given by 2. Conductivity increases when very small
E = 10 cos (3 x 1010 ¢ — [Sz]lﬁx vim 7 amounts of donor or acceptor impurities
: are added.
ta) 125 3. For the same amounts of donor and
(b) 150 acceptor impurities in silicon,
(&) 178 cr:_rnduct:nt:,r of n-type material is
higher.
(d) 200 Which of the above statements are correct for
the conductivity of a semiconductor ?
81. Which one of the following pairs is not (a) 1,2 and3
correctly matched ? (b) 1 and 2 only
(a) Semiconducto large forbidd e} 1amd 9 eny
£ arge forbidden ga
. i o - (d) 2 and 3 only
(b) Intrinsic no impurities
semiconductor 35. The efficiency of the solar cell depends upon
(¢) Fifth group donor type (a) incident light intensity.
impurity {(b) the junction capacitance.
material {¢)  minority carrier lifetimes.
{d) Semiconductor resistivity decreases (d) majority carrier lifetimes.
with temperature
36. Which one of the following statements is not
i RApS
32. At optical frequencies, contribution to currect: fur a stk ma;gneuc m:laten.nl ' .
polarization in a dielectric material is mainly (a) A soft magnetic material is used in a
transformer as a core.
(a] ionic {b) A soft magnetic material has high value
(b) dipolar of initial permeahility.
] (e} A soft material has high eddy current
{e) electronie b
(d) surface charge (d) A soft material has low hysteresis
losses.
N-DTQ-K-GNG ( 10 - A )
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20. v fim & e Rag-de E, sk gedia |38,
& H, % W @ ¥ feeen sfaw #n @ 2

(a) 0°
(b) 80"
(e} 120°

(d) 180"

34,

30. ©F EHAG % B e § wewor @ @ S
e =225, p =1 R o =0 3 3fefic dar |
ﬂﬁﬁlﬂ?{&’ﬁ E =10 cos (3 x 100 ¢ - Bz}El vim
ﬁﬁlrsﬂmﬁﬂﬁﬂﬁm%?

(a) 126
(b) 150
(c) 175
(d) 200
31, Prefemdd s wes gm wa gifem 7
g2
35.
(a) Fthaes : geq dfoa 48
(h) A ks . o e a8
(c) difadl w9 Tl TR
FgfE vend
(d) e o & ae wReResa
e & 36.

32. uwudge s ¥ yefiw smRdl W gdeser #
AN HET

(a) Fafs 2
(b) fagd @

(c) wovERI® &
(d) Y= Fmw #

N-DTGQ-K-GNG {11 - A)

Www.jeywin.com

e vl ¥ gt g @, gof ey # diEe

aw X ok = & | wifte A ¥ IR AW W,
AT T (K) & Wy &9 aaee @ ?

(a) T
b T2
(c) T2
(@ T

frefafan o= w far $ifewe -

. A Ay B YNy GEea 5 ¢ |

2. I @ 9T W w1 g @ aRe
ik ot i g

3. ﬁmﬁmﬁhmﬁégmmm
gt & foe, neR & amEEa

Feaes & |

nfaree @ arsm & e 3 s A B R
e ?

(@ 1,23R3
(b) e 13k 2
(c) Wam 13k 3
(d) am 23R 3

IR e B aam PR PR s E e
(a) 3mfe womw Haa

(b) @it e

(c) OIS TED SHa--oie

(d) TGS qES SNaT-He

i i ward % fore Py wort ¥ & ot
e we e &

(a) ¥ graebra gerd @ oo 3§ B & w0
Y wrdart |

(b) ¥ ey ward B wRfive gEEded o
Fed A BN ¥ |

() = gad vl ¥y e a-a
21

(d) fqﬁnmﬁﬁm%ﬁﬁﬁmmﬁﬁﬂ
|

Dream Dare Win N 11
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37. When core material of resistivity 41. Removal of material from a solid cathode by
0-1 x 107% Q-m is used in a transformer, eddy bombarding with positive ions from a rare
current loss Iis 100 W. What is the_ﬂddy gas discharge is called
current loss in the same transformer, if the
core material resistivity is 0-4 x 1079 Q-m ? (a) Electromigration
() 1600W (b) Etching
(b} 400 W

(c) Gettering
(c) 26 W
(d 62W {d) Sputtering

38. How do the conductivities of a conductor and |42, The pyrolysis of silane in oxygen is
semiconductor change (generally) if the purity described by SiH, + 20, — Si0, + 2H.0
of the original material in each case is Thi 5 ‘ d # 2=
iisiroved 1 is reaction can take place at room

temperature. However the substrate is
(a) Both decrease heated to about 300°C to get films of
(b) Both increase higher
fe) Conduetivity of conductor increases a1
1
while that of semiconductor decreases ki CRTAIICRERIE
(d) Conductivity of conductor decreases (b)  quality and greater uniformity
while that of semiconductor increases (¢} conductivity

39. The average autocorrelation function R(t) of (d) adhesivity
the sine wave signal x(t) = J2A . sin (wt + §)
is

2 43. In passivation what type of layer is formed
(a) A over the device 7
3
(b) A" cos wr {(a) Insulating protective layer
(c) A?sin wr (b} Conducting layer
(d) 2A2 (e} Chemically active layer
(d) Layer of ions

40. What is Hall coefficient (Ry) equal to 7 (where
N = number of conduction electrons per m®
and q = charge of an electron) 44. Which of the following is not correct for

ion-implantation ?
q )
(a) NZ {a) It is a low temperature process.
1 {b) Impurity layers can be introduced in
by +_— any order.
Nq
o 2 (¢} lmpurities can be introduced upto only
(e} + Ng a small depth below the surface.
) 2 {d) Depth at which ions are implanted can
a be precisely controlled,
N-DTQ-K-GNG (12 - A}
Dream Dare Win 12 Www.jeywin.com
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37.

N-DTQ-K-GNG

78 01 x 10% O-m widess & B8 W@l &
aiRonfi & wam & €, @ ¥ a-a 100 W
2 | o ®r st & ofidasar 04 x 108 Om
o RofiEd vy auaR ®n & ?

{a} 1600 W

(b) 400 W

(e) 25W

(d) 62W

vE g AR selaEE & (W) aesae 5
wrd &, aft s o i e verf @ e ag
S E ?

(a) oW wed &

(b) o mgdr &

(c) uIFS & TEHar dgd & Fafe Ifaes o
uedy &

A ® GIEal Uea! & St weaes &
agol &

(d)

a7 T BT x(t) = V2 A . sin (0t + ¢) T AEE
W-HEwE BeF Ri) T € ?

(@) A?

()  A? cos o1

(¢) A?sin wr

(d) 2A?

& oTiE (Ryy) fored o dan @ 7

(FE N = T giag = e Wid m? 3R
q = FAEH B FAY )

fa) -4
(b) + 21
(el ¥ Ng

{(d)

[ 13 - A )

41,

42,

st fa sl @ oves s & i g
dabiE A wd s P o s € ?

(a) Forgm sl
(b) FEmoT
(¢)  3rawimoT
(d) o7 dgor

sitediser 3 Fed &1 am-saes

SiH, + 20, — Si0, + 2H,0 & affe g & |
ge wiofear o8 o9 W & wHdl § | aul wewe
v 300 °C o Ry far s &

(a) aepa fte fafel s & Feew o
& 8

(b) 3REmTEa sfts qoen ik it wEE B
fismr wnar &1 B

(¢) 3MeFa Hiis Towar & feew wE &1 ¥

(d) emps sfte IiTEEEar & feew e
T ¥

Fretresor 3 WA ) frw we @ wa gl @ 2
(a) Torgandt < wa

(b) =EE =

(c) TGS w9 F Aheg W=

(d) s @ e

sE-mer - e Feeaffea 4 2 & @ w@
TE?

(a) TE S Frd am wEe # |

b wefs v B o PR v W
i

yyfedt B g & A A @ mE aw
A WA 51 G ¢ |

A B e aw At fee I & @
aRtgreen & P f o wea #

(e}

(d)

Dream Dare Win
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45. A regulated d.c. supply of 12V is obtained |48.
from unregulated d.c. supply having peak
value of 28V and peak-to-peak ripple of
6V. What is the maximum power dissipation
in the regulation for an output current of
Ije=2A7
(a) 32 W
(b) 26W
(c) 24 W
d) 20W

46. A JFET can be used as a voltage variable 49,
resistor (VVR). VVR operation is related to
1. the value of Vg in comparison to the

pinch off voltage, and
2. the resistance is between two of the
terminals of JFET.
What are these values ?
{a) "FIJS > Vp, T'ns
() Vpg<Vp, rgg
(e) Vm;{\"ﬂ, 'ns
(d) Vpg=Vp, rpg 50.
47. +10V
50 kG
J B =100
In the circuit, what is the emitter current ?
{a) 0-1 mA
(b) 1 mA
{c) 10 mA
(d) 100 mA
N-DTOQ-K-GNG [ 14 = A )
Dream Dare Win 14

Which one of the following statements is
correct ?

(a) PROM contains a programmable AND
array and a fixed OR array.
(b) PLA contains a fixed AND array and a

programmahble OR array.

(¢} PROM contains a fixed AND array and
a programmable OR array.

(d) PLA contains a programmable AND

array and a fixed OR array.

When the two inputs to a certain differential
amplifier are +50 pV and +150 uV, the output
is 2 V and when they are increased to +950 uV
and +1050 pV, the output increased to
2:008 V. What is the common mode ?

(a) 1

(b) 10
{el 100
(d) 1000

As the number of stages are increased in a
multistage amplifier the

1. overall gain increases.

2.  dynamic range increases,

3.  bandwidth decreases.

4. stability decreases.

6. distortion reduces.

Which of these statements are correct ?
(a)
(b)

2,3 4and b
1 and 5 only
(c) 2,3 and S only

(d) 1,3 and 4 only

Www.jeywin.com
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45. S fvafa d.e fogy wa @ e e w48
28 VIk B R i@ e Ve & 12V
o Frafim R de vea e & | I, = 2A
e o & P & weom o Reror e & 2
a) 32W
(b) 26W
() 24W
(d) 20W
46, Us JFET @ 06 divcar oY wiedius (VVR) &6 &9
# waim & W& & | VVR vaee Frefofaa @
grafea # 49,
1. e deear & geen # Vi, ® A, 3R
2 wfu JFETh i ciimaisdu A2 |
daE e ?
{a) vﬂs::-‘v'p. l'[-'ls
(b) Vpg <Vp, rgg
(©) Vpg<Vp, rpg
{dl VDE=VF!. I'Ds
50,
47. +10V
%500:1
50 kQ
A~
far e oRuy F, Fote ory s 2 2
(a) 01 mA
(b} 1mA
(e) 10 mA
(d) 100 mA
N-DTO-K-GNG (165 <A )

et st a @ d?

(a) PROM % o3 HARYd AND elF ¥R w6

o OR Frage & € |

(b) PLA % ves Fraa AND g 3R S

ATy OR =g & ¢ |

(c) PROM # e Fraa AND g 3R o

Baeed OR 3egE @ & |

(d) PLA % o% mwR¥g AND =g 3R U6

frra OR smee & # |

frd ) s & @1 Fae +54];;V3:ﬁ?
+150 VR g 2 v 2 | 7= Fael & agam
+950 pV AR +1050 pV T sm & aa Fola
agHt 2009 V& s & | Jwafs Rarwn @ 2
(@) 1

(b) 10
(¢) 100

(d) 1000

agsave vats # s s’ ® wen ag s
gt

1. oWy wfer @ S @ |
9, o R ag e # |
3, Hdedwartd
4., e o & Fe &
5. fawmor ww & smer @
FHASH s wd & ?
(a) 2,8,43R5

(by am 13R6

oo 2,33R 6

A 1, 33 4

(c)

(d)

Dream Dare Win
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51. The loop gain T of a feedback amplifier iz 100. |55. What is the total number of programmable
If the open loop gain ‘a' changes by ten fuses in an 8-input, 16 product term, 4 output
percent due to temperature, what is the PLA ?
approximate change in the overall gain ? (a) 196
{ 10%:

a (b) 512
b} 5%
(b) (e) 9
W 1w d 192
d)y 01%

56,

52. A first order.ideal LP (low pass) filter is ————
cascaded with a first order ideal high pass ! R Q
filter. Both the filters have the same cut off Do—— ' F/F
frequency, The combined filter is ' H [ Q

P T i
[ d order | filter.
R i wgid gier A Glter Which gate must be inserted in the dashed box
(b) & second order all pass filter. of the cireuit to convert a T-flip-flop into a
{c) @& second order band-pass filter, D-flip-flop ?
(d) not a practical filter, {a) EX-OR
(b) AND

83. Consider the following statements : {ed OR
1.  Crystal oscillator, id) MNAND
2. Wein bridge oscillator.

3. R-C phase shift oscillator. 657. Consider the following statements ;
4.  Resonant frequency L-C oscillator, 1. A 16-bit shift register requires
Which of the above sinuscidal oseillators 16 flip-flops.
can be used as variable audio frequency
oscillators 7 2. A 16-bit ripple counter requires
o) 1 amidil 4 flip-Nops,
(b} 2 only 3. A 16-bit synchronous counter requires
(c) 3 only 16 flip-flops.
(d) 3and4 4. A 16-bit ring counter requires
16 flip-flopa.

64. In which one of the following digital IC logie Which of the above statements is/are
families is the current drain from the power correct 7
supply the lowest ?

(a) 1 only
fa) TTL
; (b) 1,2and 4
(b} ECL

fc) 2,3 and 4
e} MOS

(d} 4 only
(d) CMOS

N-DTQ-K-GNG {168 - A}
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51, QR wads & e @fEr T, 100 & | ofk fagw |66, 8w, 16-3@Wm we, 4 Frfa PLA % wei
orer @l ‘a’ A % HROT 10 Wl wew S &, T T @ B W w7
a9y o ¥ wfeee Rada s 2 »
(a) 196
(a) 10% b) 512
(b) 5% @ 8
5 1% d) 192
(d) 01%
52. wem @ Id B ORw P @ ww AR |
el e U Fredes & Ay Wk R s et : T Q
¢ | 2t Preiest & fradz smfe oo @ # | g Do—— : F/F
fredes . . i = Q
(@ fida BfE a1 e Fredes @ | o0 B D-orv-a i R o< 5 fre, uRew
(b) R st &1 o e Predes ¢ | ¥ u dfaq ¥ 9 ¥ e @ el o afe 2
(¢) T Bt & dvz RS Fwies & | (a) EX-OR
(d) =eEis Fredes 46 & | (b) AND
53. Freffe w Rar #fte (). "OR
1. foew ot | (d) NAND
2. ¥ Ay Afem |
3. R-C &on e 2 | 57. Frafifes sl w s Sifee - _
4. e smgfe L-C e | 1. 16fe fmmm @wr @ 16 gvad @
e Sa Afer # & B 8 @ A sgh s St 2 |
Afera & Re vy e @ wda ¢ ? 2. 16fe Ihm mm B 4 avud #H
(a) 132 HaTg®sa Bl T |
(b) a2 3. 16fee grEd e B 16 gead @
(¢c) &ad 3 et
) o 4 16fac @ T @ 16 TU-gmt B
) 3aN4 aaEa B |
54, Frefafe sk IC o ot # ¥ oo v ufs 3w wa ¥ & S W e
W W URT amEre gEaE € ? i LS
() TTL
(b) ECL (b) 1,2 i 4
(¢y MOS c0 2 334
(d) CMOS o ¢ Ao
N-DTQ-K-GNG ( 19 =AY
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59,

N-DTQ-K-GNG

Match List | with List IT and select the correet
answer using the code given below the lists :
List I List I

{Application) fTmplementation
Platform)

A. Control logic for a 1. EPROM
toy that is sold in

large quantities

B. Control logic for 2,
A Microprocessor
that is still in the
development stage

PROM

9]

ROM

Store files in an 3.
embedded system

D. Ceontrel logie for 4.
a project to be
demonstrated
occasionally

Code :

EEPROM

S

(a)
()
(c)
{d)

-L.p..—_u
Lol B .
W o i

B M &2

1

o=

What is the approximate resolution in volts
for output of 5 V in a 9-bit D/A converter ?

(a) 10 mV
(k) 1 mV
{e) 100 mV
(d) 01 mV

Consider the following in respect of delta

modulation ;

1.  Granular noise
2.  Serration noise
3. Slope overload

Which of these are the drawbacks of delta
modulation ?

ta) 1and2
(b} 2and3
fcy 1and3
(d} 1,2 and3

61.

62,

63.

{ 18 - A)

If D = deviation ratio,
B = bandwidth,
W = bandwidth of message signal m(t),

what is the Carson's rule for FM ?

(a) B=2(D+1W

(b)) B=2(D-1'W
ey B=2(W4+ 1D
(d) B=2(W-1D

The aperture effect while sampling oecurs
when the signal is

(a)
(b)

sampled at precisely the Nyquist rate.
sampled using pulses of non-zero width.
{c) over sampled.

{d} under sampled,
Consider the following :

1. Resistance

2 Temperature (absolute)
3.  Boltzmann's constant
4

Bandwidth over which it is measured

The noise generated in a resistance or
resistive component of any impedance is
proportional to which of these ?

fa) 1 and 3 only
by 1, 28nd3
fe) 1,2and4
(dy 2, 3and4

The signal to quantizing noise ratio of a
binary PCM system is required to be at least
1000, What is the minimum number of bits
required to represent the guantizing levels ?

(al 4

ib) &
fe) 10
(d) 34

Dream Dare Win 18

Www.jeywin.com




Dream Dare Win

WwWw.jeywin.com

58, wdl @ g 113 gt oifdwe stk wferdt & 9 |61,
e me g &1 wim 3R Wl IR g
ot n
(orgrai) @)
A wErEmEr AR 1. EPROM
= o Reee &
fowe Fdao @b
B. g dwitm i 2. PROM
It W e
Faen § g, & fow
Frdor ab
C. swefte & # 3. ROM 62.
G A |
D. ®i-an M 4. EEPROM
aftdrsn % Be
o a6
g
A B C D
{a) 2 1 4 3 63.
b) 3 1 4 2
c) 2 4 1 3
(d) 3 4 1 2
59. 9fe D/AWRE® & s Virla & e O &
Hfawe s w2 2
{a) 10 mV
(b) 1mV
(e} 100 mV
(d) 01mV
60. 3 Wigew & W i Frefoien w frer e
1. ®meE 1E
2, WA e
3. vaven st
g W B W, g Hige & il # 2
(a) 132
by 233
() 133
(d) 1,23R3
N-DTQ-K-GNG {19 -A )
Dream Dare Win 19

aft D = faaes s,
B=i’5m.
W = i Ry moy) @ & g,
FM & fore sRe= & Fraw sar & 7
(a) B=2(D+1)W
b} B=2{D-1W
¢) B=2(W+1)D
d B=2(W-1)D

wieemm & #Rm g wwne @ & s feem
(a) & aEfEw o w vhefe o s

(b) IR dfzd & wE @ Ivgm w0 afvalE
fosan e &

(c) e wferaRm den & |
(d) =g wierafe der & |

Prafofrs «w fer #fw
1. wieRw

2. A (9)

3, dwegwe Faais

4, ¥ ded o w3 o T &

v Wierre ar fasdh wftrren & wfoded saae & sam
@ el § 3 fwd st 2 2

(a) paw 1k 3

(b) 1,233

(¢) 1,234

(d 2 33R4

i PCM &3 o wiba & @@idlew W@ &
W TR-9-T9 1000 BT HEYES € | mideR
o @ Fefte = & fe =Eaw s el &
e gl & P

{a) 4
{b) B
(e} 10
(d) 33
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65. A 1 kHz sinusoidal signal is ideally sampled [69. Consider six different messages with
at 1600 samples/s and sampled signal is respective probabilities =3 =3
passed through an ideal low-pass filter with I ¥ Py 9' Py 4’
cut-off frequency 800 Hz. What is the output e g X _ 1 =1 ara
signal frequency ? P 8 P4 16’ P 32" : 32
(a) Zero Hz there are 32 outcomes per second from a
b) 250 Hz :sy::.te:; \:111;1. is the rate of information R ?

a ita/s
% e (b) 62 bits/
(d) 750 Hz e
{e) 78 bita/s

66. Consider the following statements (d) 93 bitals
The normalized power, 8 = v*(t) can be defined
as the 70. An adaptive delta modulation differs from a
1. Instantaneous power divided by the delta modulation in that it has a variable

maximum power in the eircuit, (a) sampling rate
2. Time average power Lhat appears in a (b} step size

one ohm resistor. fe)  output bit rate
3. Total power consumed by the ecireuit .

iy d} S/N rat

divided by the average power consumed (@) S/N ratio

in that circuit.
4.  The mean square value of v(t). 71. In NTSC colour TV transmission, luminance
Which of the above statements isfare correct ? signal is expressed as
{H} 2 u“]y fﬁ} 'Ir = R + G + B
(¢) 2and3 e} Y =059+ 011G + 0-30B
(d) 2and 4 (dd Y =011R + 0-30G + 0-59B

7. Quadrature carrler siultiplexing is 72. The gain of the radar antenna of dish
(a) same as FDM. diameter 1 m is 30 dB. What ia the gain of the
(b) ‘same as TDM. radar antenna if dish diameter increases to

10 m ?
(¢} a combination of FDM and TDM. . = -
(d) the scheme where same carrier el
frequency is used for two different (b) 30 dB
signals, (c} 50dB

68. If X and Y are two independent Gaussian (d) 300 dB
random variables each with average value
zero and variance o, their joint probability [73. The modulation scheme which gives the
density function is defined as lowest probability of error in data
(a) fyy (x y) = f(x) + 5 (y) transmission for all signal-to-noise ratio is
B iy (x 3 = . f ) (W ASK
() fyy(x y)=fyx)+fyly) (b) FBK
M) fyy O y) = G (x) = fy () (o bk

X, = =1~F,
= Rl e s 2 (d) PSK

N-DTQ-K-GNG ({20- A)
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67.
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vE 1 kHz SO deas 1600 waags wfa $ave
R e oafie Reor s @ s ofeefie
w¥as @ e wrfy 800 Hz & W o6 ey
Bty oeex o & o few smen & | Fofw
wa g Fm # 7

(a) ¥ Hz

(b) 250 Hz

(e} HOD Hz

(d) 7560 Hz

FraffiEs o=t w e #ife -

wamaEa o, S =AY

1. oRuw ¥ Fitean ofts g Rwfsm At
wfis % wu A oftwifie & s &

9. uny Fitag e 3 @ A widas #§ wee
2 2 % wu F ot & wad 2 |

3. oftgy ¥ wue sitea ofte g fawfse, oRow
:mwaﬁﬁmﬁuﬁnﬁﬂﬂaﬁﬁ
I

4 oty s af ueg we & w0 F oRwfRa @
wa & |

Judfes weei & § B ad w2 2

(a) &ad 2

by 132

) 23R3

d 234

THBIOE TEE age (HeIeH )

(a) & & 2 3 FDM.

(b) & & & 3 TDM.

(¢) FDM 3R TDM & wdH & |

(d) w2 I o & s sk & -
Wit & forw 3w @ s

aft X 3k Y 2w med agfies =) # e
w2 ® e T g iR R of #, e
e Wit U e fow w3 oftwe & 2

(a)
(b}
(e) fxylx,¥y)= Fy (x) + [y (y)
(d)

fx,v (x, y) = I (x) + £, (¥)
fy v (x, ) = fx (x) . fy (y)

fxl-\r {x: }'} = rx ‘.X} - F\.- {.'.'f']

(29 = A

70.

7l

72,

73.

(d)

w fifim el w Rer & e ofwat

1 1 1 1
[+ Lk i H = . g = =, = - By
phy Bvp Ry NS
1 1
<. = — ® @wa @ F w dw0s
Ps = 35 Pe 32g
32 3H € | gEw Bl @ RaEm g ?
(a) 31 bits's
(b) 62 bita/s
(¢) 178 bits/s
(d) 93 bits/s
sqpd S igem, S digem & Rer e
e L]
(a) W Wad e

(b) W& MY TR e #
() Pimfcxwadm e
(d) SN FEm W E #

NTSC ¥ #dfasm fwo #, =felas w@@a
(R fiser w3 arfireoes fson s @ 7

a) Y=R+G+B

(b} Y =030R + 059G + 0-11B

{¢) ¥ =059R + 011G + 0-30B

d) Y =011R + 0:30G + 0-59B

ImeEE SRy BT S afar30dB 2 | TR
ey ot wfter war vt oft B & 10 m AS &g
o g ?

fa) 3dB

(b) 30 dB

ey 50dB

(d) 300 dB

@ @ digee dieen za dwor § il WE-aE
e & fore =grem siftrwen 3R & & 2
(a) ASK
(b} FSK
(e} DPSK
PSK

21
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74. It is desired to build a ripple counter of|78.
modulus 18, The minimum number of
flip-flops required is
(a) 18
(b) 8
(e} &

(d) 4

75. The stack is nothing but a set of reserved
{a) ROM address space
(b) I/O address space
(e}  RAM address space
(d) OT address space

78,

76. Consider the following terms which are used to
indicate the time taken while executing
instructions :

1.  Machine cycle

2.  Instruction cyele

3. Time state

What is the correct sequence of these in the
ascending order of the time taken by each ?

(a) 3-2-1

(b) 1-2-3

(c) 3-1-2 80,
(d) 1-3-2

77. The minimum number of two input NAND
gates needed to perform the function of a two
input OR gate is
(a] one
(b) twao
(c)  three
(d) foar

N-DTQ-K-GNG {22 - A )

Consider the following statements -
The idea of cache memory is based on the
1. property of locality of reference.

2. fact that only a small portion of a
program  is  referenced relatively
frequently,

3. heurigtic 90-10 rule.
4. fact that references generally tend to

cluster.
Which of the above statements are correct ?
(a) 1,2 and 3 only
(b) 1,3 and 4 only
(e} 2,3 and 4 only
(d) 1,2 3and4d

The data bus in an BO85 microprocessor is a
group of

fa) eight bidirectional lines that are used to
transfer 8 bits between the

microprocessor and its /O and memory.

(b)  eight lines used to transfer data among
the registers.

{c) eight onidirectional lines that are used
for /'O devices.

{d) mixteen bidirectional lines that are used

for data transfer between the
microprocessor and memory,

The BOB5 microprocessor responds to the
presence of an interrupt

{a) as soon as the TRAP pin becomes ‘high'.

(b) by checking the TRAP pin for ‘high’
status at the end of each instruction
feteh.

(e) by checking the TRAP pin for ‘high'
status at the end of execution of each
instruction.

(d) by checking the TRAP pin for ‘high’

status at regular interval,

Dream Dare Win 22
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4.

75.

T6.

1.

N-DTQ-K-GNG
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tiggere 18 & Fw nfom @ Ferfor aifes @
firer-ueie &Y T INavas we w P

(a) 18

(by 8

e} &

(d) 4

w5 Prefafea § 3 fow oo & feam 3k o0
#e

(a) 3mfdE ROM Ul Sieier ol wed

(b) SRiEE O el 3R 3 Wl

(¢) MR RAM el SeRiel & Ted

(d) HfdE O/ wen 3feRTe ® WiEd

Frafofian vl w fr @iffe o & sl &
Faer & aRE e e Tl @ e 5 6 e
wees fe I 2

1w TS
2. FRY S
3. ¥9g FEE

g gt e e wwa @, ad B # Wt arn
T

(a) 3-2-1
(b) 1-2-3
(e} 3-1-2
(dy 1-3-2

2 Fridw OR R & vord & Pafee &= & e
21 FAw NAND gRi &1 <goa HEvas I a3
22
(a) O®
by &
(c) a=

d) "R

23

{23 - A)

79,

Frfafas soe w far Sifee

9 wfa = R,

1. we-wffd oret w s @

9. W W W anuiE &, 5 e @ s e
W1 WER AR wefte fear s @ |

3. wanwias 90-10 Prm w snenfRa & |

4. 39 AW W anuia @, 5w dedl &

B TR B w0 2
sdw EmE H A S A T E ?
(a) %aor 1,233
(b) @@ 1,334
(c) ae 2,334
@ 1,2 33R4
8085 Yo Fafir 7 & &w

(a) 315 RRfm gt = wE & e
g wwftm ik gEb VO v W B
&g 8 firct & oo ¥ Rw gwm fsar smen

2
35 w1 g &, e Wl & 7
Za giawo % oo 3udm fean s @

(¢) 35 vslefm el & w9 &, B Vo
et & fore 3w feor smen #

e BRRE wet ® W R, BEe
ge dwitE AR Wi & &9 @ do B
fore Fwdm fean smen 2

8085 Few wentery, sieras B FuRfr & ufd,
(a) TRAP 7 & 7ar 89 & wiafsan 2 &

(b) WS W WRER & 3@ § TRAP A &
e wateafy o adewr o, wiefem 2w @ |

(c) Well® SR & SEUEH & 3T F TRAP fomr

¥ T et o o e, wfalear ga

i

fraftm e W TRAP iR & =

safefa @ ofemr &=, afafsa 2@ 2

(b)

{d)

(d)-
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81. Consider the following instructions : 85. Consider the following :
1. PUSH PSW The speed imbalance between memory access
5. CALL ADDR and CPU operation can be reduced by
9. XTHL 1. Cache memory
4. RSTn 2. Memory interleaving
By which of these instructions will the stack 3. Reducing the size of memo
pointer be affected ? & : o
() 1and? Which of the above statements ig/are
act 7
(b) 1 and 3 I
() 2and3 (a) 1 only
(d) 3and4 (b) 1 and2
{f¢) 2and3
82, Which of the following instructions require
more number of T-states ? (d) 3 only
fa) MOV A B
(b) MOV A M 86. In a microprocessor, interrupting by the L/O
(e LDAX B device is checked at the end of every
(d) DADD (a) T-state
(b) Machine cycle
83. Consider the following :
I | i
L Flow charts (e nstruction cycle
2. Templates (d)  Program
3.  Algorithms
By which of these aids a programmer does an |[87. When an application is designed using a
assembly level programming properly and microcontroller it has the following
easily 7 advantages over a design based on a
(a) 1and?2 MiCroprocessor ;
by 1 |
oy 1. Its chip count is less.
(e} 2and3
(d 1and3 2. It is more fault tolerant.
4. It is cheaper.
84. The ballistic galvanometer is usually lightly Which of these are correct 7
damped so that
) ) fal] 1,2 and 3
fa) it may oscillate.
(b} it may remain stable, (b) 1 and 2 only
(c) amplitude of the first swing is large. fe) 1 and 3 only
(d}  amplitude of the first swing is small. (d) 2 and 3 only
N-DTQ-K-GNG { 24 - A )
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81. Fr=fefas seet w fer $ifswe
1. PUSH PSW
2. CALL ADDR
3. XTHL
4 RSTn
& e A & B g 2o gue il @ e
(a) 132
by 13R3
(c) 2313
) 334
g2, Fraffas 1 ¥ o W rRw, g ts
o o T3t @ ?
(a) MOV A, B
(b) MOV A, M 86.
(c) LDAX DB
(d) DADD
83. Fr=fofee w fEr @iw
1. vaE |
2, AT
3. wom faft
i ¥ B el g mees fa w0 oW gy,
A A PRV TR FARYE S 2 7
(m) 13z
(b) ad 1
(¢) 233
(d) 13R3
g4, wafrs teevies war s il e e €
e
(a) g <@ T IS |
(b) T R <@ w& |
(c) erd SREuT @ 3maT ged < |
(d) wew ST @ AW TG R
N-DTQ-K-GNG (25 - A)

85. el w fax #iwe

wffe st sk CPU warer & &g ame IRigee
1. &9 wfa & g s e s ae@ @
2. ey st voom % o o far s war #

3. wfd & s wer 3 B e s @ @ |

Ides sl # B wd wd E ?
(a) wEE 1
(b) 13R2
(¢) 233
(d) &am 3

Ja st ¥, VO WM F gR1 S @
oeT, TS

T-grEen & e ¥ fem s @
(b) wei =% & 3w ¥ fsen s @
(¢) Rwaw % 3@ i fem s g
(d) TRy & 3w § feg Iwn @

(a)

A UE SEdm ® geiEEs @ 39 aw
sffove fvar omen & 7@ g g St W
s sfmer @ geen § Frafafes o e

gad! fog momr @A E

Te empa Afts du-wfew 2
OE IETEd T 2 |
AT IR E 2

(@) 1,233

(b) waer 132

(¢) tham 13K 3

am 233

g:
L
2.
3.

(d)
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88. R, D, 91.
et |
L1
+
Vs Ps @D Ry
In a multimeter circuit, for a.c. voltage
measurement, what is the function of diode
D, ?
{a) To provide half-wave rectification.
(b) To short circuit over-range voltages. oe
(e} To by-pass reverse leakage current of D,
during the negative hall eycle of the
input,
(d) To make the diode D, perform full-wave
rectification.
89. The X-input of a CRO is supplied with a [93.
signal 10 cos 100t and the Y-inpul, a signal
10 sin 100t. The gains of both X-channel
and Y-channel are the same. The screen
shows
(a) a sinusocidal signal.
(b) a straight line.
(e} an ellipse. 94.
(d) a circle,
80. What is harmonic distortion 7
(a) Linear behaviour of circuit elements
(b} Non-linear behaviour of cireuit elements
(e} Change in behaviour of circuit elements
due to change of temperature
(d) Aging of elements
N-DTQ-K-GNG {26 - A)

Which one of the following is the main reason
for using two strain gauges in the adjacent
arms of a Wheatstone bridge circuit ?

{a) Elimination of radio frequency
interference

{b) To facilitate quick balancing of bridge

(el To eliminate the effect of environmental
temperature

{d) To achieve higher sensitivity

L]

The gauge factor G of the strain gavge and
the Poisson's ratio g of the material of the
gauge are related as

fa) G=1+p
b) G=1-2nu
el G=1+2p
@ G=p

A Hall effect pick-up can be used for the
measurement of

fa) temperature change
(b} pressure
(c) magnetic flux
(d) relative humidity
Signal
Transducer [ e ner B D]

What is the correct sequence of blocks A, B, C
and D in the block diagram of a data
acquisition system 7

A/ converter, Signal converter,
Multiplexer, and Digital recorder

(a)

(b) Signal converter, Multiplexer, Digital
recorder, and A/D converter

{¢) IDigital recorder, Signal converter,
Multiplexer, and A/D eonverter

{(d) Signal converter, Digital recorder,

Multiplexer, and A/D converter

Dream Dare Win 26
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88. R, Dy 91, Wewr g Moy & g yw F A fgh
{4 woiiEl & Ivdm & FefeRes 4 @ 3 oo
+ o R E 7
Vs P2 s (a) e Fmghy feRo o Pre

(b) ¥ T Faem @ iy A § e &
a.c. dreeal A= & fore, agmdt afte F, s@iE D, (c) ETERTT A9 & WHIE BN g B
1 o W # 2 (d) JeEeR e W B

(a) e-a Reaw & |

92, faghr wardt & vl o G 3R v & verd &

(b) sfer-ofer deeand o guy &= | it g Fbe A wraio 2 7
(¢) fawr & =orers af & & kw, D, & (a) G=1+p
IFBY &1 G B AN & | by G=1-2u
el G=1+2

(d) B D, § gi-ain s Fraes s | AR
=M

89. UF CRO ¥ X.Fiw uwx €5d 10 cos 100t 3k |98, & wwa Riw-am, fewe wom a3 & o oo

Y-Rrder e e 10 sin 100t g R svwr & | e o wwewen & ?
X-yore iR Yowoner o wfterdt wum € | ol @ (a) A 3R
feamn & 7
(b) =@
(a) SUEDY W (¢) wrasr Hiiamw
.. SN (d) smifEs snda
(¢) drdew .
o4. [ |-t Al-{E{E}-{D)
(d)
w ﬁ&ﬁhﬁ!kmmﬁw&.ﬂ.cmnm
TR FEEE AR ?
90. TTE oy e & ? (a) AD Rads, i wRads, agadas 3R
sidg sfmaEs
(a) uRTe ge@l & W AR
(b) i uRad®, e, sidra Afvres Ak
(b) uRuw wed & g ERoT AD Rads
(¢) @ ¥R & HRU uRoy ged! & IERor § (c) 3iEra sfieram, T wRads, agaden 3
Rk A/D Raes
(d) e aRad®, s sfieras, aghvas ok
(d) UEH o HA THEH A/D WRads

N-DTQ-K-GNG [ 27 - A )

Dream Dare Win 27 Www.jeywin.com



Dream Dare Win

Www.jeywin.com

85. Consider the following : 98.
1.  Fundamental frequency of input signal
2. Frequency components of the input
signal at least upto third harmonie
d.  Time interval between two pulses
4.  Pulse width
Which ?f the above measurements can be For the bridge shown Z, = 2000 £ 20°,
made with the help of a frequency counter ? Z, = 150Q.£30° and Z, = 300Q 2 -30°.
{g) 1,3 and 4 What is the value of Z, so that the bridge
() 1 and 2 only iz balanced ?
(c) 2 and 3 only (a) 2250 2 20"
(d) 2, 3andd (b) 225Q 2 - 20°
(e} 1000 £ 80°
86. Consider the following statements in respect (d) 100Q £ - 80®
of a Wien bridge :
1. It is suitable for measurement of|99. In a transformer, for which of the following
capacitance, gonditions will the exciting current be in
2. It is suitable for measurement of phlase " quadrature  with the impressed
inductance. voltage |
4. It is suitable for measurement of (2) F’"I‘Y thy leakage impedance drop is
frequency. ignared.
Which of the above statements isfare (b) Only the core loss is ignored.
correct 7 (e} Both leakage impedance and core loss
(a) 1 only are ignored.
(b) 1and3 (d) Only the no-load copper loss is ignored.
(c) 2and3
(d) 3 only 100. Each of the three insulators forming a string
has a self-capacitance of C farads. The
87. A voltmeter reads 11076 wolts. The error shutiting capaf:it.ancu of the connecting metal
ko Bl the atir carve (5 — BB ls work of each insulator is 0-2 C to earth and
What is the vilae:of woltage 7 0-1 C to the line. What is the string efficiency
of the arrangement 7
(a) 11050 V i Hine
(b) 11025 V (kY B&2%
(e} 11076V (c) 892%
(d) 1110V {d) 91-2%
N-DTQ-K-GNG [ 28 - A )
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P w far e -
1. i wsa & ogw s

2. THHADY AN TE aF Ay uea &
gy sroE

3. & wel & d vy FeRe
4, wE ffwRr

4w ¥ ¥ e o sl e & weae @
o5 =0 v & 2

1,33R4
e 13k 2
&am 2 ok 3
2,334

(a)
(b)
(e}
(d)

& 3 & Wk 3 Preffiee me w Rraw At :
1. o8 oftar am & fore 3uges # |

2. g% Wwa W & fowe Ioge #

3. ue wgh wwa & fow 3ugem 2 |

s e i & R

a1

133

23k 3

¥ae 3

(a)
(b)
(c)
(d)

dreadt © Toe 11075 A R | IR IF A A
¥ 3% — 025 AT & | dea @ aElaE WM
g7

(a) 11050 V

(b} 11025V
{c) 11075V

d) 1110V

98,

100,

(29 - A}

()
N

femme m ¥g & e Z, = 2000 220
Z, = 160Q£30° 3R Z; = 3000 £-30".
A s e 2, oo & ?

225 Q £ 20°
2250 £ - 20°
100 Q £ 80°
1002 £ - 80®

(a)
(b)
(el
(d}

gRRonfi &, Peefefles & & S5 & 2 & fw
Ioad a0 IR deear & 9y S GUEE §
anft ?

(a) e eFor wimmn o@ @ e B & |

(b) am BE wfF & e A 2 |

(¢) &1 wiarar § @ a9 & New a
2l

(d) e gy oirs o el @ e @ @

& fagad, frl s @ wafar C e @,
v a7 ar € | ves fapdd & sas o
o @ ureduegs aftar yEved & e 02 C ok
s e oict | fmw & af g @
te

(a) 812%
(b) B6:2%
(c) B892%
(d) 91-2%
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101. Match List I with List I1 and select the correct |103. The capacitance of a 3-core cable between any
answer using the code given below the lists ; two conductors with sheath earthed is C pF.
List1 List II What is the per phase capacitance of the
(Transformer (Application) cable ?
connection)
(a}) E
A. Star-delta 1. Large current, 3
Low woltage ® 2C
rating q
B. Delta-star 2. Low current, e} 2C
high voltage
: C
rating b =
2
C. Star-sta 3. Stepping u _
G it 104. If & is the loss angle of the cable, then what is
of voltage
the power factor of the cable ?
D. Delta-delta 4. Stepping down (a) cos B
of valkags (b) sin &
Code : (e) tan &
A B C D (d)] Independent of &
iy 8 - ? : 105. The percent bias for generator protection is
by 1 2 3 4 about
(e} 4 3 2 1 (a) 5tol0
(d) 1 3 2 4 (b) 10 to 15
{c) 15to 20
(d} 10 to 20
102. Consider the following statements :
The VAR injection in a power system is|106. +o0
obtained by T, D,
1. Tap changing transformers.
2. Synchronous condensers.
3. Capacitor and inductor banks. Dy Ty
4. Inductor banks. -0
Which of the above statements are correct ? The figure shows a chopper circuit. What is
(a) 1,3 and4 the type of the chopper 7
(b) 1,2and3 (a) Type A-chopper
(¢} 2 and 3 only (b) Type B-chopper
fe) C-chopper
(d) 2,3 and 4 9 Type P
{d) Type D-chopper
M-DTQ-K-GNG { 30 - A )
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101, G 1@ g 113 gifta B sk gfied & 92 108, 30 Faw & oRer B & oot & @@ o

few e B¢ B wEr B WA I g i & e ¢ P 2 | Haw & vfv oo aRe
T Tt 11 w7
(aRonfia wrar) (3rpaaT) G 10
3
A AR 1. ¥8q ow, e deean @ 2
Freifcor 'y
B. gﬁ,’]’-ﬂTﬂ 2. Eﬂ:{ I, ﬁm (c) 2C
i (d) g
C. AU-aR 3. decar @ 3=
104. afE & Taw = & @01 §, 7@ Faw @ Ais P
D. ¥ 4, dre o FIEaT TR 7
3 {(a) cos b
E . (b) sin b
A B C D
(c) tan B
(a) 4 2 d 1 (d) &9 w@a3
: 4
o : ¥ 105. T waor & e vitwear sfimf amm
e 4 8 2 1 (@) 5A10%
(d) 1 3 2 4 (b) 1W0F 158
e) 15¥ 208
(d) 10F20%
102. Pr=fafiEs sw= o fem e -
106, +o
916 @ W VAR 3enaigul
1. v qRadHT aRenft ¥ g e fsan e # | » D,
2. qEamtes St R are fsan s @
3. e 3l i gl arr e fsan s & | D, T,
4, IR® Tgl BRI W s e # i |
(a) 1,33R4 FE?
(b) 1,233 (a) WX A-wen
; (b) W& Bl
fe) Ham 233 G T
@) 2.33WR4 (d) wWeR D=l
N-DTQ-K-GNG (13 ==K
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107.

109,

N-DTQ-K-GNG

The thermal resistances for the thyristor-sink
combination are 0-16 and 0-09 o'w. If the
junction temperature is 125 °C and the heat
sink temperature is 76 °C, what is the average
power dissipation in the thyristor-sink

eombination ?
(a)
(b}
(e
(d)

150 W
176 W
200 W
225 W

The triggering circuit of a thyristor is shown.
The thyristor requires a gate current of 10 mA,
for guaranteed turn-on. What is the value of R
required for the thyristor to turn on reliably
under all conditions of variation of V, 7

{a) 10000 chms
(b} 1600 chms
(e} 1200 ohms
(d) B00 ohms

A converter has been designed to operate on a
220 V, 50 Hz source. If the voltage falls,
frequency and load current remaining the
same, there is a possibility for

{a) improved regulation.

(b) commutation failure in the rectifier

region only of the converter.

(¢} commutation failure in the inverting

region only of the converter.

(d)

commutation failure in general in the
range of firing angles 0 < o < 180°.

110. In a 3-phase controlled bridge rectifier, with

111.

|32 - A)

an increase of overlap angle, how does the
output d.c. voltage change ?

(a)
(b}
(e)
(d)

Decreases

Increases

Does not change

Depends upon load inductance

)

O

/

vy

n 2n

L 3

Fig. (&)

The Fig. (a) shows an inverter circuit with a
d.c. source voltage Vg The semiconductor
switches are operated in such a manner that
the pole voltages V,, and V, are shown in
Fig. (b}, What is the rms value of the voltage
Vig?

Vs

(fa) =
n
(b) Vg.
{e)

(d)
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107. wusfex-fos waew & e anfo sfos 0416 (110, 3-o Frife ¥ Resd 4, sfem s e
3R 009 o/w & | aft il A 125 °C # 3R 3o R de s Radadmd ?
fis am 76 °C #, upRerfos wdem § sitaa @) A e
vt sa 7 & 2

(b) @G am R
(2) 150°'W () @ oRads 78 g
(b) 176 W (d) o7 TE RwE | PR awd &
t-:;) 200 W
(d) 225 W i1L. 1
5
108. ke 1119 vy Y
Vy=(12+4)V 8 T
_i* Z
vﬂ__/ T- - |
1]
h_T ferg (a)
aRwe @ wvad= Ry R m@ # | senE v
= & for anfrer & 10 mA BR 9/ & 10, ] |
FrEegs B & |V, & e o it sl ® o x - >0
aRRER @ fwewias =t o0 & e R @ |
HETIS W T E P Vaoh | .
(a) 10000 & iw | [ <
(b) 1600 FHrer | L R v)
(c) 1200 3 firt (a) d.c. i deean V, & T v e ooy
@ 800 3 feamen & | ofees el & 3w A ¥ wwftm
fosen aen & f6 @ deear v, 3k v, fom (o) A

109, 9Rad® $ 220 V, 50 Hz & Wd W vae 3 & Ram m R E | deea V,, & rms 99 @
fom afimfeas fo mn # | oft deear R & 27
il amafa @ @ ux o w2, 9w @ v
e 2 7 @ %

oo

() 3J&0 | -8 Vs-JE
(b) dREds & o Teed & § dor Reem 2n
(¢} uRad® & wae ufeo & § Har G (e) VE_JE

(d) wEgE: sae- Bl 0 < a < 1807 & RWR 5

¥ wer R @ st

/2

N-DTQ-K-GNG (33 -A)

Dream Dare Win 33 Www.jeywin.com



Dream Dare Win

WwWWw.jeywin.com

112. An induction motor drive is used for a speed |115. Assertion (A): A monostable multivibrator

control application. It is driven from an
inverter with constant V/ control. The name
plate details are : V=415V, phase: 3,

f =50 Hz, N = 2850 rpm. The motor is run
with the inverter output frequency set at
40 Hz, and with half the rated slip. What is
the running speed of the motor ? (Standard
speed of the motor is 3000 rpm)

(a} 2790 rpm 116.
(b} 2400 rpm
(e) 2340 rpm
(d) 2280 rpm

Directions : Each of the next eight (8) items
consist of two statements, one lnbelled as the |117.
Assertion (A) and the other as ‘Reason (R)'
You mre io examine these two statements
carefully and select the answers to these items
using the code given below :

Code :

(a) Both A and R are individually true and | 118,
R is the correct explanation of A

(b} Both A and R are individually true but R
is not the correct explanation of A

{c) A is true but R is false
(d) A is false but R is true

113. Assertion (A) ; All [erroeclectric materials in |119.
the ferroelectric state exhibit
piezoelectric behaviour.

Reason (R) ;'  Ferroelectric state is  the
ordered state of a collection of
electric dipole moments.

114. Assertion (A) : A demultiplexer cannot be used

as a decoder. 3.
Reason (R} : A demultiplexer selects one of
many outputs whereas a
decoder selects an output
corresponding 1o the coded
inpul.
N-DTO-K-GNG { 34 - A}

Reason (R) :

Assertion (A) ;

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) ;

Reason (R) :

Assertion (A) :

Reason (R) :

can be used to alter the pulse
width of a repetitive pulse
train.

Monostable multivibrator has a
single stable state.

When SSB is used to transmit
voice or music, phase distortion
is not of major consequence.

Human ear is insensgitive to
phase distortion.

PAM is preferred over PCM in
digital communication systems.

In PCM quantization error is
low,

Intel BOBS microprocessor has
five hardware interrupts and
eight software interrupts.

All the thirteen of them are
vector interrupts,

A gerial VO is much slower
than parallel /O,

Serial 1/0 transmits only one
bit in one clock period while
parallel /O transmits all bits of
one word in one clock period.

High resistance standards have
separate potential and current
terminals.

Having separate terminals
énsures accurate measurement
of voltage drop.
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o e swdw & fe e dRer e e
Juam & s & | ow ve fams vif FeEer @
aftm g | magm R V=415V, T8,
f =50 Hz, N = 2850 rpm & | Hex, wis &
40 Hz ® FPrifsm Fofr amgfar ol PefRa wdor
& 3d W) e & | v & waeE O o g R
(drex & 7FS =16 3000 rpm #)

(a) 2790 rpm
2400 rpm
2340 rpm
2280 rpm

(c)
(d)

Al : st s (08) sEETET A @ gRdw ¥ & s

113.

114.

N-DTQ-K-GNG

& Brd woT (A) a2 g I BRU (R) BT
mar & | 5 @A s @ weuEgde e B¢
§7 wew @ g A9 fe gv oe @ wEma @
ghe :

<

(0) 2+ AR Rafer w& & 3R, AsT 98

e #

2Fl A 3R R =ficr w8 € Ry R, A @
e W T #

Aw 2 o< R awe @
Asma g e Ru @

(b)

(c)
(d)

& (A)

it eire-forgey ward eve-Farg ovaen
e e e feam # |
olre-farge s forgey o st &

HUEE FEE# |

& (R) :

T (A) : Ffder @ Ress & e wge

T masa 2|

Rnfeedmar sme ol 4 & s @
Ta @ & s ees ofta Fhwe
Semrfmeomrsm |

FRT (R) :

136 - A

115.

1186.

117.

118.

119,

120.

BT (A) :

HROT (R) :

FUT(A) :

HR(R) :

ST (A) :

IR (R) :

&R (R) -

BT (A) :

BRI (R) :

T (A) :

&R (R) :

eafefs agdiia @ qRmEd] e
¥ wr frem @ ofiefia 0 & fe
W fosan o wwa # |

g

514 SSB ® A% W Wil & T H
fte wgw = & M e e o
W S A #

e w07 5 T & ofe st #

Fidrg @aR @@ §, PAM 31 PCM &
e ¥ aftee R s #

PCM 7 maidmwor R a9 2 |

: 2w 8085 Few Wit ¥ dfg AR

Fiaas 3R e diveduR savaE B
#1
T & @t o wftw sewaa € |

St VO, TR VO & gern 3§ St
e |

At 1/0 v aeie e ¥ Haw v
far e s & sefs wwee 1O

s oot saft § oo e Wi fer
T M s

T wiesa wee gus fve ok
o 2fife v € |

guss efie dieear oW & aRee A
o gffRea oo & |
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SPACE FOR ROUGH WORK
e B & foe sE

{ 36 - A )
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SPACE FOR ROUGH WORK

e oM & foe s
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5@ g e gF g gRawl @lae @1 7 TE o a4 q@ T @l
AAD. : N-DTQ-K-GNG e gRawt sgwn

wieor gRea!
fare gshfrsd

w9g : a e guife : 300

1. whan WR™ @R & g T, A 59 Thee gReet @ g sava w1 A S 5 3 Re e,
o1 el T U S weEie i A 8 | ol o, @ 5@ wdt wfeer gRas @ wee Wit |

2. Fo-wED § W& WM W e RS o A, B, C a1 D uaifRufy we ¥ 3§ geas it |

3. g9 wdeor giem W Y i e e oes # e 39
srite forae & | ol gfies w sk o T Rl |

4. 3w e qie # 120 veiw (o) e e € | wds e R sk ol § oo @ | e we A
aﬁui-g;tmlﬁﬂnﬁ#Iﬁﬁﬂmmaﬁwﬁﬁmm‘m-mwaﬁmmmﬁﬁluﬁ
B G w5 v Qo R W6 & A 3 w1 sifen ot S et wdiew ol | RS
e % fore e v @ wegeR g € |
S S Tt TR I @ R e sRewe | @ oifea s # | soEs i R e Pl dfee
Wl WA & 3® WA E |
7o tgd 5 3 wdew qfaer & Rftnr swiel &y ER-TEE W b ST gE o, o Y
wror-ua & wrer ifer arRet % aeR P8 e REs A S E |

8. 3 I Wi geget 31 TS ¥ WY & aw au ol ¥ W W S IR-ere S B Wi
& | 3w s wr ot oftee & o @ sl # |

9. m= ®W ¥ fow e vhew gfe & s F 9o E |

10. e FeR1 & fve 2vs
P we-wEl 4 Ieftear g Re e e st & e @os R e |

q) WS we ¥ e TR defus s # | iR B wE we % foe fe e oe new I B R
we 2 P fbe e siwt @ ves-Rre (0+33) ave ¥ W & @ Smem |

i) oft o IfeER ve @ st I ¥ 2, O o e IO W Sme, gaf e e st 8 @ s
o= w8 g 2, fx o 39 wem & R s @ 3 axE @ avs R s |

(i) @l IfeER gy B wee g el R wen €, sraf Iefear gRn IR A Ran s @, @ 39 v
# o o5 aog = T Fmem |

5q a® P! a7 Tew] gRa®l Qe ) T E S ad ad A @l

Note : English version of the instructions is printed on the front cover of this Booklet.
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